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| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

The two groups of students should be taught differently in that their learning needs are
quite

1) bizarre 2) distinct 3) stable 4) reckless

This mildly picaresque novel a boy's flight from prep school to an eventful
weekend in a big city.

1) recounts 2) accumulates 3) asserts 4) restricts

The two companies worked in and lowered their prices to make their rival
company collapse.

1) ambivalence 2) validity 3) chaos 4) collusion

The U.S. was accused of international efforts to combat global warming.
1) regretting 2) convicting 3) undermining 4) accelerating
Richard is so that his diet consists almost exclusively of catfish and chicken
liver-the two most inexpensive foods in the store.

1) frugal 2) timid 3) selective 4) astute

Even after traveling 62 miles, the runner kept on moving.

1) congenial 2) indefatigable 3) flimsy 4) indifferent

As we traveled to college for the first time, the family car was laden with books, clothing,
, and other necessities.

1) warehouses 2) amenities 3) fragments 4) appliances

When Eileen me to a fight, I could see the hatred in her eyes.

1) strengthened 2) derived 3) challenged 4) justified

People like to be around George because he is so and good-natured, so it comes
as no surprise that he has so many good f{riends.

1) affable 2) sarcastic 3) superficial 4) half-hearted

The new tax policy was criticized in that it was argued that the rich were actually the
main of the tax cuts.
1) hedonists 2) savants 3) benefactors 4) beneficiaries

| Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

I each space. Then mark your answer sheet.

Quantum teleportation exploits some of the most basic (and peculiar) features of quantum
mechanics, (11) in the first quarter of the 20th century to explain (12) at the
level of individual atoms. (13) the beginning, theorists realized that quantum physics
led to a plethora of new phenomena, (14) defy common sense. Technological
progress in the final quarter of the 20th century has enabled researchers to conduct many
experiments that not only demonstrate fundamental, sometimes bizarre aspects of quantum

mechanics but, (15) in the case of quantum teleportation, apply them to achieve
previously inconceivable feats.

1) invented a branch of physics 2) a branch of physics invented

3) a branch of physics was invented 4) that invented a branch of physics

1) occurrence in processes 2) that processes that occur

3) processes that occur 4) processes of occurrence

1) Since 2) Of 3) From 4) For

1) some of which 2) some of them 3) some of those 4) of them some

1) also 2) as 3) like 4) such a
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PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing

the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

Passage 1:

Reliability has a broad meaning in our daily life. In technical terms, reliability is defined as
the probability that a product performs its intended function without failure under specified
conditions for a specified period of time. The definition contains three important elements:
intended function, specified period of time, and specified conditions. As reliability is quantified
by probability, any attempts to measure it involve the use of probabilistic and statistical
methods. Hence, probability theory and statistics are important mathematical tools for
reliability engineering.

Reliability engineering is the discipline of ensuring that a product will be reliable when
operated in a specified manner. In other words, the function of reliability engineering is to
avoid failures. In reality, failures are inevitable; a product will fail sooner or later. Reliability
engineering is implemented by taking structured and feasible actions that maximize reliability
and minimize the effects of failures. In general, three steps are necessary to accomplish this
objective. The first step is to build maximum reliability into a product during the design and
development stage. This step is most critical in that it determines the inherent reliability. The
second step is to minimize production process variation to assure that the process does not
appreciably degrade the inherent reliability. Once a product is deploved, appropriate
maintenance operations should be initiated to alleviate performance degradation and prolong
product life. To live up to the greatest potential inherent to these reliability techniques for
specific products, we must develop and implement appropriate and adequate reliability
programs that synthesize the individual reliability techniques. In particular, such programs
include the tasks of specifying the reliability requirements, customizing and sequencing the
reliability techniques. orchestrating the implementation, and documenting the results.

According to the reliability definition, an item is reliable if -----------------
1) it meets the environmental requirements

2) it has some features right alter it is produced

3) the probability of the desired performance is equals to 1

4) it can perform against some stresses for a known time period

Which one is the objective of reliability engineering?

1) Postponing the failure 2) Producing standard items

3) Designing for simple repairs 4) Avoiding the failures

The word "maintenance' in paragraph 2 is most related to ----------- ‘

1) save 2) repair 3) replacement 4) improving
The word "deployed" in paragraph 2 is closest in meaning to ---------- !

1) sold 2) used 3) failed 4) produced
In the last line, the word, "orcgestrating' means ------------- ;

1) a kind of music 2) rhythmical in performance

3) elegant implementation 4) enforcement in music
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Passage 2:

Industrial engineering is also known as operations management system engineering, production
engineering, manufacturing enginerring or manufacturing systmes engineering; a distinction
that seems to depend on the viewpoint or motives of the user. Recruiters or deuctional
establishments use the names to different themselves from other. In healthcare, industrial
engineers are more commonly known as managment enginerrs, engineering managment, or
even health systems engineers.

Whereas most engineering disciplines apply skills to very specific areas. industrial
engineering is applied in virtually every industrial. Examples if where industrial engineering
might be use include shortening lines or queses at theme park, streamlining an operating room,
distrbuting products wokdwide (also referred to as supply chain management), and
manufacturing cheaper and more reliable automobiles. Industrial engineers typically use
comouter simulation, especially discrete event simulation, for system analysis and evaluation.

The name "industrial engineer" can be misleading. While the term originally applied to
manufacturing, it has grown to encompass services and other industries as well. Similar fields
include operation research, management science, financial engineering. supply chain,
ergonomics, value engineering and quality engineering.

According to paragraph 1, industrial engineering has several names because ------------ ‘
1) it is a newly founded discipline

2) it covers a vast area of knowledge

3) people may use it for different purposes

4) recruiters or educational experts have different viewpoints

The word ""themselves" in paragraph 1 refers to -------------- G

1) names 2) motives of the user

3) industrial engineers 4) recruiters or educational establishments
For which of the following has the author provided a definition?

1) lines 2) Theme park

3) Computer simulation 4) Health systems engineers

The word "encompass' in paragraph 3 is closest in meaning to -------------- .

1) deal with 2) related to

3) perform 4) involve

Health care means that -—-------—- ;

1) industrial engineering and management

2) care about health

3) health systems engineers

4) management engineering or engineering mangement
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or

(4) best fits each space. Then mark the correct choice on your answer sheet.

Most companies approach quality in a defensive or reactive mode. Quality is confined to
minimizing defect rates or (26) ----=--=----- to design specification. To compete on quality,
companies must view it as an opportunity to (27) ------------- the customer, not just a way to
avoid problems or reduce rework costs. To please the customer, one must first understand
customer (28) ---=--=--=---- toward and expectations of quality.

Factors such as product life, recoverable value, ease of service, and (29) ------------- cost
affect decisions on disposal, continued use, and recycling. Many products are (30) -------------
because they are difficult or expensive to repair.

1) conforming 2) approaching 3) assisting 4) yielding
1) illustrate 2) find 3) satisty 4) evade

1) products 2) attitudes 3) acts 4) owners

1) extra 2) expenditure 3) disposal 4) alternative

1) purchased 2) accommodated 3) tripled 4) discarded
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